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BEANRE SHTEEBEBESBHETE

£ b R - ARSTiE Bify % 2 B & # =

EEISE 59, 224, 391
E5BIRE 59, 224, 391
RE&T 2,567, 544
RE&T 2,567, 544
Tn>5 2,567, 544
1 RExDS&EME mHEERE LD S 2tH 62.00 12,071 748, 402

&
2 KBS ERFZRE mHEERE LD S 2tH 62.00 29, 341 1,819,142

&
BIET 56, 656, 847
BIET 56, 656, 847
— R 21,314,678
3 — REER Ay R4 THMERS Y b TA=60kN/mil £ 4, 448. 00 3,523 15, 670, 304

m2
4 o — pEFE() [z b s 1.00 1,007, 830 1,007, 830

=
5 o — hEREQ) ke ERE 89. 00 52,096 4,636, 544

m
BEEA 31, 236, 702
6 BEIYBA(CREAAR) (1) IR AERT MA 5~100kg/EFEE 1.661.00 12, 860 21, 360, 460

m3
T ERYBACREAARK) 2) SEITHRAKER #A 5~100kg/EEE 886. 00 11,147 9,876, 242

m3




BEANRE SHTEEBEBESBHETE
2 o] 1B - IR Bif B i & & % =
BRTEHL 4,105, 467
8 BAREHL +0cm, -20cm 317.00 12, 951 4,105, 467
m2
HiERRE (FEL 12, 805, 741
HE Rk 12, 805, 741
HER%RE 12, 805, 741
TEE 8,119, 941
TEXR 6, 937, 253
9 REEIEM BLEEER 1.00 6, 937, 253 6,937, 253
En
Zi 1,182,688
10 4TiRIERE - BE 10-PSE!  RHIZE (KIBE ) 4.00 295, 672 1,182, 688
=
EEBLMIEESRE 4,565, 800
KEFA LR 4,565, 800
11 BEBLERERE 14m % 14m 1.00 1,111, 800 1,111,800
=
12 BAEMBIEBEE 14m x 14m 1.00 999, 600 999, 600
=
13 BAMBIEREHSE 14mx 14m H=8m 1.00 2,454, 400 2,454,400
En
BiTEEE 120, 000




BERRE

SHEERSBRGBIETSE
% L] His - BAIKTHE AL - B ® % m =
HifrE®E 120, 000
14 HifTEEE HREEPMREXITE 1.00 120, 000 120, 000
=




WIEE SHEERSBRGBIETSE

% g - AKTiE Bifr B 2 B i & #B w E
EEIEE 59, 224, 391
MiEIER 20,294,708 + 20, 325, 081 40, 619, 789
HBEREE GD 12,805,741 + 6,997,783 + 491,184 20, 294, 708
HBERHE (BLE) 12, 805, 741
HBERER (F) 63,790,191 x 10.97% ((5.21% x1.68 +2.00% x 1.02) 6,997, 783
BERERER 63,790,191 x 0.77% 491,184
RnEER 79,519,099 x 25.56% ((22.83% +1.99%) x 1.03) 20, 325, 081
e i 59,224,391 + 40,619,789 99, 844, 180
—REEES 99,844,180 x 17.10% (17.10% x 1.00) — 7,471 17, 065, 883
RERITE 99,844,180 x 0.04% 39,937
T &l 99,844,180 + 17,065,883 + 39,937 116, 950, 000
HBETEALE 116,950,000 x 10.00% 11, 695, 000
EEIZE 116,950,000 + 11, 695, 000 128, 645, 000
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&5 1
& KBTS HEE TEREXELOS 2tH 10EH Y
£ 7 R - BIRTE BARL #H = B Of | W E B &
tHEE&
A 0.12 31, 300. 00 3, 756
LEEXE
A 0.48 24,020. 00 11, 529
fitEtEXE LD S5 (2. 0tF) o110 (LA x Z110cm EHARER GF) xths
® 10. 00 4, 300. 00 43, 000
R a) 5~100kg/{EFZE
m3 7.00 7, 200. 00 50, 400
Ny R EER
B 0.24 45, 690. 00 10, 965
HME FHEEDY
% 7.00 15, 285. 00 1,069
= 5 1YEZRES - 10. 001& 12,071.00 120, 719
&5 :2
& KBTS ERZE MEEXETDS 2tA 10EH Y
£ 7 R - BIRTE BARL #H = B Of | W E B &
tHEE&
A 0.12 31, 300. 00 3, 756
LEEXE
A 0.24 24,020. 00 5, 764
ECE M GERTTEE) $AD 70tH
B 0.24 728, 726. 00 174,894 6. 00H / 8H
EIEE £MD 550PS#Y
B 0.24 249, 618. 00 59,908/4.00H / 8H
Bk D 270PSE! 3~5tH
B 0.24 198, 460. 00 47,630 8H
AR L NOY
% 0.50 291, 952. 00 1,459
= 5 1YEZRES - 10. 001& 29, 341. 00 293, 411
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&S :3
B V—FEER AwiasA THHRR Y ~ TA=60kN/mLl £ 1THHY (2436m2)
%4 7 R - AR R BAf #H = B i %5 i w =
Ay abA THHRRY b TA=60kN/mEL £
m2 2, 436. 00 1, 890. 00 4, 604, 040
Ayl THHRRY b BEMIE VoM b, #WEEA I, R, BEANES
Ey m2 2, 436. 00 1,000. 00 2, 436, 000
9 L—ftamm 35~40t B
=] 1.00 369, 595. 00 369, 595 8H
5l $/D 300PSEY
A 1.00 138, 113. 00 138,113/2.00H / 8H
Bk D 270PSE! 3~5tf
A 4.00 198, 460. 00 793, 840 8H
EUT
A 1.00 29, 640. 00 29, 640
LEEXE
A 7.00 24, 020. 00 168, 140
P PR 2RD%
% 0.50 8, 539, 368. 00 42, 696
& YEZRESN ¢ 2,436.00m 2 3,523.00 8,582, 064
E2 .4
B D— MESE()  BELES XLy
% 7 R - AR R BAf #H = B i %5 i m =
HEE&
A 3.60 31, 300. 00 112, 680
LEEXE
A 28. 80 24, 020. 00 691, 776
STFL—oIL—rRaA—ILIL—) |25t A -9 HEH A A3 % (~2014)
CaEsiEs J#] BRE xR (~ B B 3.60 55, 100. 00 198, 360
P TR 2RD%
% 0.50 1,002, 816. 00 5,014
& fE%8EN ;1. 00K 1,007, 830. 00 1,007, 830




Rifiz -/ \v7r—o

THTFERSEREBRETS

55
B — MERE(2)  KePESE 10mzyY
£ 7 R - KT By = B Of & | W E B &
HEER
A 1.53 31, 300. 00 47,889
ECE M GERTTEE) $HD 70t
=] 0.20 608, 278. 00 121,655/2. 00H / 8H
EIEE $/HD 550PSE!
=] 0.20 225, 938. 00 45,187/2.00H / 8H
oK iR D 270PSE! 3~5tm
=] 1.53 198, 460. 00 303, 643|8H
AR L NOY
% 0.50 518, 374.00 2,591
& B 1YEZHES : 10.00m 52,096. 00 520, 965
5:6
B HRYBACREAAR) (1) FREAER #A 5~100kg/EFEE 1000m 3 K Y
£ 7 R - KT By = B Of & | W E B =
A 5~100kg/{EFEE
m3 ,500. 00 7, 200. 00 10, 800, 000
g L—ftEM 45~50t R
=] 2.34 403, 127. 00 943,317/6.00H / 8H
EIEE $/D 450PSE!
=] 2.34 207,512.00 485,578/2. 00H / 8H
oK LiR D 270PSE! 3~5tm
=] 2.86 198, 460. 00 567, 595|8H
AR =L NOY
% 0.50 12, 796, 490. 00 63, 982
& B 1EZ%HEH : 1,000.00m 3 12, 860. 00 12, 860, 472
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B HERYBA(CREBAFR) ) AFRAFER #E 5~100ke/EREE 1000m 3 4 U
2 o B - BT SE B % & B & & = B =
#a 5~100ke/ B2
m3 1, 300. 00 7, 200. 00 9, 360, 000
HL—o B 45~50t
B 2.03 403, 127.00 818, 3476.00H / 8H
SR $HD 450PSEY
B 2.03 207,512.00 421,249/2.00H / 8H
Bkt D 270PS%E! 3~5tFH
B 2.48 198, 460. 00 492,180 8H
HHH 2HE0Y%
% 0.50 11,091, 776. 00 55, 458
& H {EZ8EH : 1,000.00m 3 11, 147.00 11,147,234
E5:8
L BEFTHL +0cm, -20cm 1H&Y (156.4m2)
2 o B - TR B % & B & & = B =
Bkt D 270PS%E! 3~5tFH
B 1.00 198, 460. 00 198, 460 8H
HHH 2HE0Y%
% 0.50 198, 460. 00 992
& H E%8EH :15.40m 2 12,951. 00 199, 452
E= ]
B RREBM mLrEges Ee)
2 # B - BT SE B % & B & & = B =
TEERM FRP D 180PS%!
B 65.00 106, 196. 00 6, 902, 7406. 00H / 8H
HHH 2HE0Y%
% 0.50 6, 902, 740. 00 34,513
& it YEZERED 1. 00 6, 937, 253. 00 6, 937, 253
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H5:10
B KTiREBE - €] 10-PSE REAZEM (KIFEME) 4FELY
% FR B - BIKSTE B = B @ £ B = H =
ERERM GEftem) D 70t/
= 1.00 728, 726.00 728,726 6.00H / 8H
EET $HD 550PSE
= 1.00 249, 618. 00 249,618 4. 00H / 8H
EKTH D 270PSE! 3~5t/
= 1.00 198, 460. 00 198, 460 8H
M 20
% 0.50 1,176, 804. 00 5, 884
& i TE£8EH : 4.00% 295, 672. 00 1,182, 688
&H5: 11
B 5EMLEARERE  14nx 14n EED)
% FR B - BIKSTE B = B @ £ = H =
EAEGIEREE BEEY L—2idd (#1114 x 14miR)
® 1.00 1,111, 800. 00 1,111, 800
& & TE8EH : 1.00% 1,111, 800. 00 1,111, 800
H5 :12
&% HABIEREE  14nx 14m 12y
% FR B - BIKSTE B = B @ £ = H =
SEAEBIE R E BEEY L—2idd (#1114 x 14miR)
® 1.00 999, 600. 00 999, 600
& & TE8EH : 1.00% 999, 600. 00 999, 600
H5 13
2 - BARLERIENE 14mx 14m  H=8m 1X&Y
% FR B - BIKSTE B = B @ £ = H =
EE LR 14m x 14m
% 1.00 572, 800. 00 572, 800
BAEMLEER 14mx 14m H=8m
% 1.00 1, 881, 600. 00 1,881, 600
L fE%EES 1. 00K 2, 454, 400. 00 2, 454, 400
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H5: 14
2% HitEBRE BEREIRRAEX1IE
2 Lo R - KT By B = B Of ol | W E B &
HEREIRATE
IE 1.00 120, 000. 00 120, 000
& it EZBER - 1.00= 120, 000. 00 120, 000




